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 APM-01  

BACHELOR’S DEGREE PROGRAMME (BDP) 

Term-End Examination 

February, 2021 

 

(APPLICATION ORIENTED COURSE) 

APM-01 : INTEGRATED PEST MANAGEMENT 

Time : 3 hours Maximum Marks : 100 

Note :  Question no. 1 is compulsory. Attempt any  

five questions from questions no. 2 to 7. 

 

1. (a) Define the following terms : 52=10 

(i) Aesthetic Pest 

(ii) Metamorphosis 

(iii) Weed 

(iv) Economic Threshold 

(v) Agro-ecosystem 
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(b) Match the following : 51=5 

 Column A  Column B 

(i) Sucking insect (1) Unpleasant  

   offensive odour 

(ii) Polyphagous (2) Sugarcane 

(iii) Leptocorisa (3) Human lice 

(iv) Chilo (4) Feed on variety  

 infuscatellus  of plants 

(v) Anoplura (5) Removal of cell sap 

(c) Choose the correct options given in the 

parentheses : 51=5 

(i) (Perennial/Occasional) pests are the 

ones capable of causing damage 

throughout the year. 

(ii) Many (rodents/insects) induce the 

formation of a special plant organ 

called gall. 

(iii) (Tryporyza/Leucinodes) with its half 

a dozen of species is a major pest of 

paddy. 

(iv) (Termites/Cicadas)  belong to the 

group of bugs. 

(v) (Houseflies/Mosquitoes) breed in 

warm humid weather specially in 

rainy season when stagnant water is 

available. 



APM-01 3   P.T.O. 

(d) State whether the following statements are 

True (T) or False (F) : 51=5 

(i) Most of the common insects cause 

damage to parts of the plant above 

ground. 

(ii) Stored grains may be heavily 

contaminated by faeces, cast skin of 

many pests. 

(iii) Sucking mouth-parts are the most 

primitive type of mouth-parts. 

(iv) No metamorphosis occurs in aphids. 

(v) Beetle larvae are known as maggots. 

2. Differentiate between any three of the  

following : 35=15 

(a) Anoplura and Diptera 

(b) Crabs and Millipedes 

(c) Pest manipulation and Plant manipulation 

(d) Autotrophs and Heterotrophs 

(e) Repellents and Antifeedants 

3. Write short notes on any three of the  

following : 35=15 

(a) Ecological Succession 

(b) Satellite based Multispectral Scanning 

(c) Crop Rotation 

(d) Acaricides 
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4. (a) Explain the concept of insect and host-plant 

relationship. 10 

(b) Discuss the intensity of resistance from the 

viewpoint of insects. 5 

5. Describe societal, environmental and economic 

constraints to IPM tactics. 15 

6. Discuss the issues involved in the management 

of pesticides. 15 

7. (a) Describe the major IPM strategies related 

to a plan to eliminate a pest problem. 10 

(b) Discuss pest forecasting. 5 
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 E.nr.E_.-01  

ñZmVH$ Cnm{Y H$m`©H«$_ (~r.S>r.nr.)  

gÌm§V narjm 

\$adar,  2021 

(ì`dhma_ybH$ nmR²>`H«$_) 

E.nr.E_.-01 : g_mH${bV nr‹S>H$ à~§YZ 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  àíZ g§. 1 A{Zdm ©̀ h¡ & àíZ g§. 2 go 7 _| go {H$Ýht nm±M> 

àíZm| Ho$ CÎma Xr{OE & 

1. (H$) {ZåZ{b{IV eãXm| H$mo n[a^m{fV H$s{OE : 52=10 

(i) é{MVm AWdm EoñWo{Q>H$ nr‹S>H$ 

(ii) H$m`m§VaU 

(iii) AnV¥U (IanVdma) 

(iv) Am{W©H$ Ama§^Z gr_m 

(v) H¥${f-nm[aV§Ì 
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(I) {ZåZ{b{IV H$m {_bmZ H$s{OE :  51=5 

   H$m°b_ A      H$m°b_ ~ 

(i) MygZo dmbo H$sQ> (1) A{à` {KZmdZr XþJªY 

(ii) {d{dYmhmar (2) JÞm 

(iii) boßQ>moH$moamBµOm (3) _mZd Oy± 

(iv) H$mBbmo B§\$gH¡$Q>obg (4) {d{dY àH$ma Ho$  
   nm¡Ym| na ^aU 

(v) EoZmoßbyam (5) H$mo{eH$m ag H$mo 
   {ZH$mbZm 

(J) {XE JE H$moîR>H$m| _| go ghr {dH$ënm| H$mo Mw{ZE :  51=5 

(i) (~hþdfu`/Adg[aH$) nr‹S>H$ do hmoVo h¢ Omo  
df©-^a j{V nhþ±MmZo _| g_W© hmoVo h¢ & 

(ii) AZoH$ (H§¥$VH$/H$sQ>) nm¡Yo Ho$ {d{eîQ> A§J 
{Ogo Jm°b H$hVo h¢, Ho$ {Z_m©U H$mo ào[aV H$aVo 
h¢ & 

(iii) (Q´>mBnmoamBµOm/ë`ygrZmoS>og), {OgH$s AmYm 
XO©Z ñnrerµO nmB© OmVr h¢, YmZ H$m _w»` 
nr‹S>H$ h¡ & 

(iv) (Xr_H$/gmBHo$S>m) ~Jm| Ho$ g_yh Ho$ A§VJ©V 
AmVo h¢ & 

(v) (Kaoby _ŠIr/_ÀN>a>) J_© AmÐ© _m¡g_ _| 
{deof ê$n go dfm© G$Vw _| àOZZ H$aVo h¢, O~ 
éH$m hþAm nmZr CnbãY hmo & 
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(K) ~VmBE {H$ {ZåZ{b{IV H$WZ gË` (T) h¢ AWdm 
AgË` (F) :  51=5 

(i) O_rZ Ho$ D$na nm¡Yo Ho$ ^mJm| H$mo gm_mÝ` H$sQ 
A{YH$m§e j{V nhþ±MmVo h¢ & 

(ii) ^ÊS>m[aV AZmO {dîR>m VWm AZoH$ nr‹S>H$m| H$s 
{Z_m}{MV ËdMmAm| Ûmam ^mar _mÌm _| g§Xÿ{fV 
hmo gH$Vo h¢ &  

(iii) MyfH$ {µH$ñ_ Ho$ _wIm§J g~go Am{X_ àH$ma Ho$ 
_wIm§J h¢ &  

(iv) E{\$S>m| _| H$m`m§VaU Zht hmoVm h¡ & 

(v) ~rQ>bm| Ho$ bmadm| H$mo _¡JQ> H$hVo h¢ &  

2. {ZåZ{b{IV _| go {H$Ýht VrZ Ho$ ~rM A§Va ñnîQ>  

H$s{OE : 35=15 

(H$) EZmoßbyam Ed§ {S>ßQ>oam 

(I) Ho$H$‹S>o Ed§ {_brnrS> 

(J) nr‹S>H$ _| hoa-\o$a Ed§ µ\$gb (nanmofr) _| hoa-\o$a 

(K) ñdnmofr Ed§ {df_nmofr 

(L>) à{VH$f©H$ Ed§ nmofUamoYr 

3. {ZåZ{b{IV _| go {H$Ýht VrZ  na g§{já {Q>ßn{U`m±  

{b{IE : 35=15 

(H$) nm[apñW{VH$s AZwH«$_U 

(I) CnJ«h AmYm[aV ~hþ-ñnoŠQ´>_r ñH¡$qZJ 

(J) µ\$gb AmdV©Z (gñ`mdV©Z) 

(K) EoH¡$agZmer 
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4. (H$) H$sQ> VWm nanmofr nmXn Ho$ ~rM Ho$ g§~§Ym| H$s 
AdYmaUm H$mo g_PmBE & 10 

(I) H$sQ>m| _| à{VamoY H$s Vrd«Vm H$s {ddoMZm H$s{OE & 5 

5. AmB©.nr.E_. `w{º$`m| H$s gm_m{OH$, n`m©daU-g§~§Yr Am¡a 
Am{W©H$ ~mYmAm| H$m dU©Z H$s{OE & 15 

6. nr‹S>H$Zm{e`m| Ho$ à~§YZ go g§~§{YV nhbwAm| H$s {ddoMZm 
H$s{OE & 15 

7. (H$) nr‹S>H$ g_ñ`mAm| H$mo g_mßV H$aZo H$s ì`mnH$ 
`moOZm Ho$ AÝVJ©V AmB©.nr.E_. H$s à_wI aUZr{V`m| 
H$m dU©Z H$s{OE & 10 

(I) nr‹S>H$ nyd©KmofUm H$s {ddoMZm H$s{OE & 5 

 


